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ROOTS OF BINOMIAL EQUATION

MATCHING GAME

The goal of the puzzle is to make correct pairs of questions and answers with a minimal
amount of incorrect attempts.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



SCORE

The art of doing mathematics consists in finding that special case which contains all the germs
of generality.
David Hilbert, German mathematician

Match each equation to a figure in which the marked points x1, x2, x3 and x4 correspond to the roots of
the equation.

The puzzle is finished. You can see you score
or browse the questions again.
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Awesome! Keep it up!You are an Einstein!Super-duper!
That is what I call a fine job!

You can go celebrate!Wait! Sheldon might get jealous!You’re almost rocking.A little harder and you would kill it. Try
it again.

That’s like when you end up second in a
competition when you could have won it.

Hermione’s top of the class title is
almost on the line.

You are so close to victory,
don’t give up!

All great scientists made some mistakes
in their life. Just like you.

To be average, or not to be average?
That is the question.

It is not bad, but it could be better.You can do better! You have to work
harder!

It’s not bad, but you can do better!Hey, it could be worse, right?Are you keeping your energy for later?Pity, you might need to practice more.Just a little better and you will be
average.

You avoided an F, but that doesn’t mean
you don’t have to study more.

Have you ever seen the way a chicken
flies?

You solve math problems that way. . .

What a calamity!Do you know that you have to click
on the right answer?

There was a time
Einstein couldn’t count to 10 either.

Next time don’t multiply your knowledge
by zero.




